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R o | BT e | B2 | e | e | B2 | BT e | B2 | TR | & | e
’ 100kN/mM%#BZ 5 -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 444 55.39| FhLlst |0.00 ~ 4.44| 1.94 9.82 s 1.00f 500 ~ 5.00 55.39| #hLlst | 500 ~ 500 1.94 9.82
9 100kN/mM%#BZ % -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 6.56 82.67| #h L4t |0.00 ~ 0.00| 1.66 8.41 st 1.00f 500 ~ 8.00 82.67| #hLl4+ | 500 ~ 8.00| 1.66 8.41
3 100kN/m##8 %% 1.00{0.00 ~ 1.37 120.75| 3m%x#B 25 -~ - - —| 100kN/mM%Z#BZ % 1.00{ 12.65 ~ 21.78 120.75| 3m%x#B 25 -~ - - -
s 1.00]1.37 ~ 9.15 100.00f Zhki4t+ |0.00 ~ 9.15] 2.39 12.10 st 1.00f 500 ~ 12.65 100.00f Z=hl4t+ | 5.00 ~ 2178 2.39 12.10
4 100kN/m##8 %% 1.00{0.00 ~ 222 134.47|3m%x#B25 -~ - - —| 100kN/mM%Z#BZ % 1.00{ 10.57 ~ 19.86 134.47|3m%x{B25 -~ - - -
s 1.00] 2.22 ~ 10.00 100.00f Z=hki4t+ | 0.00 ~ 10.00] 2.33 11.78 s 1.00f 5.00 ~ 10.57 100.00f Z=hkl4t+ | 5.00 ~ 19.86] 2.33 11.78
5 100kN/m##8% % 1.00{0.00 ~ 3.17 150.70| 3m%x# %% 0.00 ~ 0.18 3.09 15.61| 100kN/m#%#8 2% 1.00{ 10.58 ~ 31.65 150.70| 3m%*# % %| 30.00 ~ 31.65| 3.09 15.61
s 1.00] 3.17 ~ 10.96 100.00f Z=hist | 0.18 ~ 10.96] 3.00 15.16 st 1.00f 5.00 ~ 10.58 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 15.16
6 100kN/m##8% % 1.00{0.00 ~ 2.89 145.83|3m%#% %] 0.00 ~ 0.00] 3.00 15.17| 100kN/m#%#8 2% 1.00{ 10.56 ~ 26.14 145.83|3m%x#8% 5| 25.00 ~ 26.14| 3.00 15.17
s 1.00]2.89 ~ 10.68 100.00f Z=hkl4t+ | 0.00 ~ 10.68] 3.00 15.16 s 1.00f 5.00 ~ 10.56 100.00f Z=h 4+ | 5.00 ~ 25.00[ 3.00 15.16
100kN/mM##BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM##BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ 5% ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ ZFhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ ZFhLst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
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